COUNTY OF ROCKLAND

Department of General Services **Purchasing Division**

Contract Award Notification

Title: Manhole Castings, Risers and Covers

Contract Period: October 1, 2020 through September 30, 2021 w/1 year option

Original Date of Issue: November 4, 2020

Date of Revision:

BID No: RFB-RC-2020-084

Catalog: WASTEWATER

Authorized Users: COUNTY AGENCIES, ALL POLITICAL SUBDIVISIONS

Address Inquiries To:

 Name:
 Robert Poole

 Title:
 Purchaser I

 Phone:
 (845) 364-3818

 Fax:
 (845) 364-3809

E-mail: pooler@co.rockland.ny.us

Description

This contract is to provide manhole castings, risers and covers.

Contract #	Vendor Number	Contractor & Address	Telephone No.
BID 20-084	0000019570	Campbell Foundry	973-483-5480
		800 Bergen Street	Ext. 210
		Harrison, NJ 07029	
		Contact: John Pisciotto	CELL: 201-400-4156
		johnp@campbellfoundry.com	
			FAX: 973-483-1843

PAGE 1 OF 9

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND

	DGS – PURCHASING DEPARTMENT											
		BLDG. A,	2ND FLOOR,			I ROAD						
				, NY 10970								
		T	ELEPHONE N									
			FAX NO.: 3	845-364-380)9							
LINE NO.	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNI	IT PRICE	TO	TAL PRICE	MANUFACTURER/ MODEL#			
	SECTION ONE											
	MANHOLE (CASTINGS WITH	LETTERING	TO BE DE	TERN	MINED AT	TIME	OF ORDER				
	Manhole Castings Campbell pattern #1203, or approved equal											
1	Frame Only-8" Minimum Order Qty. 5	89031000001	15	Each	\$	150.00	\$	2,250.00	Campbel #1203			
2	Cover Only Minimum Order Qty. 5	89031000002	20	Each	\$	150.00	\$	3,000.00	Campbel #1204			
3	Frame 8" & Cover Minimum Order Qty. 5	89031000003	25	Each	\$	300.00	\$	7,500.00	Campbel #1205			
4	Additional charge for lettering to be determined at time of order	89031000004	5	Each	\$	125.00	\$	625.00	N/A			

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

LINE NO.	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNI	T PRICE	TO	FAL PRICE	MANUFACTURER/ MODEL#
		\mathbf{M}_{A}	ANHOLE RISI	ER EXTEN	SIONS	8			
	Manhole Risers-25-3/4 Dia Risers to fit Campbell pattern #1203, or approved equal								
5	Extension 1-1/2" Minimum Order Qty. 5	89031000008	25	Each	\$	90.00	\$	2,250.00	Campbell #1203
6	Extension 2" Minimum Order Qty. 5	89031000009	25	Each	\$	90.00	\$	2,250.00	Campbell #1203
	Manhole Risers-23-in Dia Risers to fit Campbell pattern 1005, or approved equal				'				
7	Extension 1-1/2" Minimum Order Qty. 5	89031000010	10	Each	\$	107.00	\$	1,070.00	Campbell #1005
8	Extension 2" Minimum Order Qty. 5	89031000011	10	Each	\$	115.00	\$	1,150.00	Campbell #1005
9	TOTAL OF SECTION ONE ITEMS 1-8			Total			\$	20,095.00	
	ITEMS 1-8						\$	20,095.00	

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT

		VENDOR							
		Т	POMONA ELEPHONE N	, NY 10970 O.: 845-364					
			FAX NO.: 8	845-364-380)9				
LINE NO.	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNI	IT PRICE	TOT	TAL PRICE	MANUFACTURER/ MODEL#
	SECTION TWO								
	MANHOLE	CASTINGS WITH	LETTERING	TO BE DE	TERN	MINED AT	TIME	OF ORDER	
	Manhole Castings Neenah pattern #R-1559, or approved equal								
10	Frame Only-8" Minimum Order Qty. 5	89031000012	10	Each	\$	235.00	\$	2,350.00	Neenah #1559
11	Vented Cover Only Minimum Order Qty. 5	89031000013	10	Each	\$	235.00	\$	2,350.00	Neenah #1560
12	Frame 8" & Vented Cover Minimum Order Qty. 5	89031000014	10	Each	\$	475.00	\$	4,750.00	Neenah #1561
13	Additional charge for lettering to be determined at time of order	89031000015	5	Each	\$	125.00	\$	625.00	N/A
					1				

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

		FAX NO.: 8	343-304-300	19							
DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNIT	PRICE	TO	FAL PRICE	MANUFACTURER/ MODEL#			
MANHOLE RISER EXTENSIONS											
Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal											
Extension 1-1/2'' Minimum Order Qty. 5	89031000016	5	Each	\$	95.00	\$	475.00	Campbell			
Extension 2'' Minimum Order Qty. 5	89031000017	5	Each	\$	95.00	\$	475.00	Campbell			
TOTAL OF SECTION TWO ITEMS 10-15			Total			\$	11,025.00				
	Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal Extension 1-1/2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 TOTAL OF SECTION TWO	Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal Extension 1-1/2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 TOTAL OF SECTION TWO	MANHOLE RISI Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal Extension 1-1/2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 TOTAL OF SECTION TWO	MANHOLE RISER EXTEN Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal Extension 1-1/2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 TOTAL OF SECTION TWO ITEM NUMBER EST. QTY. UNIT 89031000016 5 Each 89031000017 5 Each Total	DESCRIPTIONITEM NUMBEREST. QTY.UNITUNITMANHOLE RISER EXTENSIONSManhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equalExtension 1-1/2" Minimum Order Qty. 5890310000165Each \$Extension 2" Minimum Order Qty. 5890310000175Each \$TOTAL OF SECTION TWOTotal	DESCRIPTIONITEM NUMBEREST. QTY.UNITUNIT PRICEMANHOLE RISER EXTENSIONSManhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal890310000165Each \$ 95.00Extension 1-1/2" Minimum Order Qty. 5890310000175Each \$ 95.00Extension 2" Minimum Order Qty. 5890310000175Each \$ 95.00TOTAL OF SECTION TWOTotal	MANHOLE RISER EXTENSIONS Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal Extension 1-1/2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 TOTAL OF SECTION TWO LTEM NUMBER EST. QTY. UNIT UNIT PRICE TO SET IN TOTAL OF SECTION TWO Total	MANHOLE RISER EXTENSIONS Manhole Risers-25-3/4 Dia Risers to fit Neenah pattern #R- 1559, or approved equal Extension 1-1/2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 Extension 2" Minimum Order Qty. 5 TOTAL OF SECTION TWO ITEM NUMBER EST. QTY. UNIT UNIT PRICE TOTAL PRICE 475.00 475.00 Total			

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD POMONA, NY 10970

		T	ELEPHONE No.: 8				
LINE NO.	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNIT PRICE	TOTAL PRICE	MANUFACTURER/ MODEL#
	SECTION THREE						
	MANHOLE (CASTINGS WITH	LETTERING	TO BE DE	TERMINED AT	TIME OF ORDER	
	Manhole Castings General pattern #12683, or approved equal						
17	Frame Only-8" Minimum Order Qty. 5	89031000018	10	Each	NO AWARD		
18	Cover Only Minimum Order Qty. 5	89031000019	10	Each	NO AWARD		
19	Frame 8" & Cover Minimum Order Qty. 5	89031000020	10	Each	NO AWARD		
20	Additional charge for lettering to be determined at time of order	89031000021	5	Each	NO AWARD		

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD POMONA. NY 10970

		,		, NY 10970)		
		T	ELEPHONE No.: 8				
LINE NO.	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNIT PRICE	TOTAL PRIC	E MANUFACTURER/ MODEL#
1,00		MA	ANHOLE RIS	ER EXTEN	SIONS		
	Manhole Risers-25-3/4 Dia Risers to fit General pattern #12683, or approved equal						
21	Extension 1-1/2" Minimum Order Qty. 5	89031000022	10	Each	NO AWARD		
22	Extension 2" Minimum Order Qty. 5	89031000023	10	Each	NO AWARD		
23	TOTAL OF SECTION THREE ITEMS 17-22			Total			
	SECTION FOUR						
	MANHOLE	CASTINGS WITH	LETTERING	TO BE DE	TERMINED AT	TIME OF ORD	ER
	Manhole Castings Campbell pattern #1203B, or approved equal						
24	Frame Only-6" Minimum Order Qty. 5	89031000024	10	Each	\$ 150.00	\$ 1,500	0.00 Campbell #1203B
25	Cover Only Minimum Order Qty. 5	89031000025	10	Each	\$ 150.00	\$ 1,500	00 Campbell #1203B

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

LINE NO.	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNI	T PRICE	TOT	TAL PRICE	MANUFACTURER/ MODEL#
26	Frame 6" & Cover Minimum Order Qty. 5	89031000026	10	Each	\$	150.00	\$	1,500.00	Campbell #1203B
27	Additional charge for lettering to be determined at time of order	89031000004	5	Each	\$	125.00	\$	625.00	N/A
28	TOTAL OF SECTION FOUR LINES 24-27			Total			\$	5,125.00	
	SECTION FIVE							,	

LOCKING MANHOLE COVER WITH LETTERING TO BE DETERMINED AT TIME OF ORDER

	Locking Manhole Cover 6'' Campbell pattern #1487, or approved equal						
29	Cover Only 6" Minimum Order Qty. 5	89031000027	10	Each	\$ 220.00	\$ 2,200.00	Campbell #1487
30	Additional charge for lettering to be determined at time of order	89031000028	10	Each	\$ 125.00	\$ 1,250.00	N/A
31	TOTAL OF SECTION FIVE LINES 29-30			Total		\$ 3,450.00	

MANHOLE CASTINGS, RISERS AND COVERS

COUNTY OF ROCKLAND DGS – PURCHASING DEPARTMENT BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

	FAX NO.: 845-364-3809												
LINE	DESCRIPTION	ITEM NUMBER	EST. QTY.	UNIT	UNIT PRICE	TOTAL PRICE	MANUFACTURER/						
NO.							MODEL#						
32	Small Dollar Charge			Each	\$1.00								
	for non contracted items and any												
	special sizes or verbiage added to												
	items above. Quote to be												
	obtained from awarded supplier												
	Days to deliver after receipt of			Days									
	purchase order with standard												
	markings DRAIN-SEWER-												
	SANITARY				5								
	Days to deliver after receipt of	-		Days									
	purchase order with custom												
	markings												
	l				30								

PAGE: 7

COUNTY OF ROCKLAND - DGS-PURCHASING

BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970 TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: RFB #:

MANHOLE CASTINGS – RISERS & COVERS | RFB-RC-2020-084

SPECIFICATIONS

1. SCOPE

1.1. This bid is for pricing for specified manhole castings and risers for Rockland County Sewer District #1 and other county agencies as needed. This bid includes the Rockland County Sewer District #1 and various locations in the County of Rockland. The County of Rockland uses various manufacturers around the County. Estimated quantities will be placed on an as needed basis.

2. GENERAL REQUIREMENTS

- 2.1. Manhole Castings and Risers shall conform to the requirements of current A.S.T.M. specifications for gray iron castings (designation A48-48). Manhole Castings and Risers and covers shall be heavy duty and be rated for a minimum of A.A.S.H.T.O. H20-16-wheel loads.
- 2.2. Bids submitted for Manhole Castings and Risers shall show a unit price for the pattern listed on the Proposal pages. The unit price shall include delivery and unloading of the Manhole Castings and Risers at any location within Rockland County. **Delivered price shall be for a minimum quantity of 5 pieces.**
- 2.3. Pattern numbers for Manhole Castings and Risers to be furnished are those used by Campbell Foundry, Harrison, NJ, General Foundries, North Brunswick, NJ or by Neenah Foundry Company, Neenah, Wisconsin or an approved equal. **Any deviations in dimensions must be noted.**
 - 2.3.1. If offering an equal, vendor shall be required to set up a field test for approval of items offered within 5 business days after notification.
- 2.4. Manhole Castings to be furnished as needed are, Campbell 1203&B, Neenah R-1559 or General 12683, Storm Manhole Frame & Cover. Cover shall have two penetrating pick holes approximately 1 ½" wide by 2" long and be of non-skid design. Cover shall have a minimum weight of 120 pounds and measure 25 ¾" in diameter. Cover shall have 1 ¾" raised lettering on its non-skid design. **Lettering to be determined at time of order**.
- 2.5. Riser Extensions are to be for 25-3/4" and 23" diameter covers for Campbell 1203 and 1005 Manhole Castings. 25-3/4" diameter covers for Neenah R-1559 Manhole Castings and 25-3/4" diameter covers for General Foundry 12683 Manhole Castings. Also supply locking cover 1478.
- 2.6. Bidders are advised that the delivery of Manhole Castings and Risers will only be accepted between the hours of 8:00 am and 3:00 pm, Monday through Friday, unless other arrangements are made.
- 2.7. Bidders shall ensure that Manhole Castings and Risers are unloaded in the presence of a designated representative and a receipt signature of acceptance is provided.
- 2.8. The County of Rockland reserves the right to reject any Manhole casting or riser found damaged upon delivery, damaged during unloading, or in the opinion of the designated representative does not meet these specifications.
- 2.9. Any Manhole Castings or Risers rejected by the County of Rockland in accordance with paragraph 2.8 above shall be replaced by the bidder at no additional cost, including return and re-supply shipping, to the County of Rockland.
- 2.10. Bids will only be considered from firms normally engaged in providing the type commodity specified herein. The County of Rockland reserves the right to inspect the bidder's facility, equipment, personnel, and organization at any time, or to take any other action needed to determine bidder's ability to perform. The County shall reject bids where evidence or evaluation is determined to indicate inability to perform.

PAGE: 8

COUNTY OF ROCKLAND - DGS-PURCHASING

BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970 TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: RFB #:

MANHOLE CASTINGS – RISERS & COVERS | RFB-RC-2020-084

3. GUARANTIES/WARRANTEES

3.1. Bidder shall submit all guaranties and warrantees with the Bid Proposal.

4. BRAND NAME

- 4.1. The use of a brand name is for the purpose of describing the standard of quality, performance, and characteristics desired and are not intended to limit or restrict competition
 - 4.1.1. APPROVED EQUAL OR EQUIVALENT ITEMS BRAND
 - 4.1.1.1. Bidder shall submit specifications, cut sheets, and brochure data <u>with his bid</u> if bidding on an equal or equivalent item. <u>If bidders do not include required information on alternate items, bid will be rejected.</u>
 - 4.1.1.2. The County of Rockland will consider imported items but would prefer domestic castings.
 - 4.1.1.3. Bids containing equal or equivalent product shall contain a written side by side comparison to the Campbell, Neenah, or General Foundry product. This analysis shall be included with the bid submittal.
 - 4.1.1.4. Bidder shall submit a written affirmation that the product being offered meets or exceeds the specified product.
 - 4.1.1.5. Bidder shall indicate Mfg. and Model # on the proposal pages.

5. CONTRACT PRICE ADJUSTMENTS UPON RENEWAL

5.1. Pricing shall remain firm through the first contract period with no adjustments allowed. If the County of Rockland exercises the option year of the contract, contractors may submit a request for adjustment on the anniversary date of the contract. Any request for price adjustment(s) shall be submitted thirty (30) days in advance in writing to the Director of Purchasing. All price adjustments will be limited to the percentage increase in the CPI Index – All Urban Consumers for the preceding 12 months. The County reserves the right to reject any request for price increase deemed excessive.

6. AWARD

6.1. This bid shall be awarded <u>by Section</u> to the lowest responsive/responsible bidders meeting the stated requirements.